1/21~—>

BE-E (SM4FETAL4ELR)
1 FEN B % R
2 FERBRAREE 0 BA . RE B ICRISRIRE & 2l

HS FX %l BE#(EL AEIR FAEH(E2) b FEE e S
40964 |10F%Ri |2t ER® HY (BETIEARL) 7TH9R Y L
40965 |10t pog ERT HY (BETIEARL) 7A10RH ) L
40966 |10/ A | B IR HY (BETEEW) 7H10H HY (B - REMERL54) 3L
40967 |401% S EIR™ HY (BETIEAWL) 7R9H HY (F#150) 218
40968 |601% St BRIREFEN HY (BETEEW) 7H8H - E=gan=|
40969 [20£% B BRREIEN HY (BETIEARL) 7A11R HY Eeya=|
40970 |10/ | B IR HY (BETEEW) 7H11H HY (B - REMERL54) 3L
40971 |30f% 7k EIR™ HY (BETIEAWL) 7R9H HY BilzN: =]
40972 |10/ | B IR HY (BETEEW) 7H9H HY) 5L
40973 |10m A |B1E EIR™ HY (BETIEAWL) 7TR9H HY (HF - REMEKLL) 3L
40974 |107% KM | B IR HY (BETEEW) 7H11H HY (B - REMEKL60) 3L
40975 [304% pog KT HY (BEETIEAWL) 7R12AH ) NR— b g A <—
40976 |10/ | B IR HY (BETEEW) 7H9H HY (HE - REMEKL60) 7L
40977 |10m A |Z1E BRREMERN HY (BETIEAWL) 7A11H HY (HF - REMEK160) %L
40978 [804% og FLHE HY (BETIEARL) 7R11H &) L
40979 |30f% S EIR™ HY (BETIEAWL) 7A11H HY (RR—VEEL3) 248
40980 [104% B ER® HY (BETIEARL) 7TR9H Y L
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40981 [304% pog KT HY (BETIEARL) 7A108 HY (BB - REMEHL56) L
40982 |404% Bk NIEFH HY (BETEARL) 7R12H - BileS:a=]
40983 |10t B IR HY (BETIEARL) 7A10RH ) AL
40984  |404% Bk KT HY (BETIEARL) 7R12H Y E=van=|
40985 [304% B KT FEAEIR 7R128 HY £tit8
40986 [304% og KT HY (BETIEARL) 7R11H Y E=van=|
40987 |10m A |ZE EIR™ HY (BETIEAWL) 7A3H HY (F#150) L
40988 [304% og ER® HY (BETIEARL) 7A5H HY (F#150) SHE
40989 |601% pog IR HY (BETIEARL) 7A138 HY EilzN:3s]
40990 [604% og KT HY (BETEARL) 7R 108 ) Eilzy=3=}
40991 [801% pog KT HY (BETIEARL) 7R12AH HY AL
40992  [304% Bk KT HY (BETIEARL) 7R11H HY (BB - REMERL56) BileS:a=]
40993 |10m%KiH | B4 IR HY (BETIEARL) 7A118 HY (BB - REMEHRL) L
40994 [304% B SR AT HY (BETIEARWL) 7R12H Y E=van=|
40995 [304% pog SRR BT HY (BETIEARL) 7A11RH ) NR— k& <—
40996 [504% og SRR T HY (BETIEARL) 7R11H - BileS:a=]
40997 |104% S SR T HY (BETIEAWL) 7A11H HY) L
40998 [604% B SRR GEFTE HY (BETIEARL) 7TH9R - E=vag=|
40999 (10 Ki Bt R fy HY (BETIEAEW) 7H10H HY (HE - RENEXL56) 7L
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41000 |104% 7k by HY (BETIEAWL) 7A11H HY) 5L

41001 |504% 7 R HY (BETEEW) 7H12H HY) E=gan=|

41002 |30f% S by HY (BETIEAWL) 7A11H HY BEx

41003 [304% Bk KT HY (BETIEARL) 7R11H - N3]

41004 |10mA0H |Z1E EIR™ HY (BETIEAWL) 7A11H HY (F#150) 7L

41005 |404% og KT HY (BETIEARL) 7R11H - E=van=|

41006 |501% Sk BRREFTERN HY (BETIEAEW) 7H10H HY NEE

41007  |404% Bk KT HY (BETIEARL) 7R 108 Y HE¥

41008 |401% S BRREMERN HY (BETIEAWL) 7A11H HY (HF - REMEK156) 248

41009 |10/ |Z01% BRREFEN HY (BETEEW) 7H12H - 5L

41010 [10% St EIR™ HY (BETIEAWL) 78128 HY (RR—VEEL3) L

41011 |104% S BRREFEN HY (BETEEW) 7H11H HlY) (RKR—V;EEHA3) %L

41012 [10£% oy BREERFTEN HY (BEFETIEARL) 7128 HY (RR—VEEL3) L

41013 |604% Bk KT HY (BETIEARL) 7R 108 - HE¥

41014  |40% S by HY (BETIEAWL) 7A10H - Eyan=|

41015 [304% og ER® HY (BETIEARL) 7TH9H Y NR— b & A< —
41016 |201% S =RET HY (BETIEAWL) 7A13H HY Eyan=|

41017 |404% S BRREFEN HY (BETEEW) 7H12H HY) SifzNi9=]
41018 |10mA |ZE BRREMEN HY (BETIEAWL) 7128 HY) L
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41019 [60f% 7k EIR™ HY (BETIEAWL) 78128 HY) A
41020 |104% 7 R HY (BETIEAEWL) 7813H HY (RR—"VEEAL3) mL
41021 |80f% 7k EIR™ HY (BETIEAWL) 7A13H HY) 5L
41022 [304% og KT HY (BETIEARL) 7R12H Y EilzN=3=}
41023 |10m A0 |B1E by HY (BETIEAWL) 7128 HY) 5L
41024 [304% B SRR T HY (BETIEARL) 7R 108 Y BEZ
41025 |401% 7k EIR™ HY (BETIEAWL) 7A12H HY RNIE
41026 |104% og ER® HY (BETIEARL) 7R12H HY L
41027 |40% 7k BRREMERN HY (BETIEAWL) 7A12H - Sz =]
41028 [204% og SRR GEFTE HY (BETEARL) 7R12H HY NR— b & A< —
41029 [80f% 7k by HY (BETIEAWL) 78128 - L
41030 |504% 7 KT HY (BETIEAL) 78128 - N 3=
41031 [30f% 7k by HY (BETIEAWL) 7A12H HY (HF - REMEK156) RNIE
41032 [304% og ER® HY (BETIEARL) 7R13H HY (BB - RBEMERI) BileS:a=]
41033 |10 & &t R HY (BEFETIEAEL) 7H12H HY (B - REMEXLL) 7L
41034 [304% B S R RGEFTE HY (BETIEARL) 7R11H HY (BB - REMERL6E0) SHE
41035 |10 K Bt BRREFTERN HY (BETIEAEW) 7H12H HY (B - REMEKL60) 7L
41036 [304% pog SRR GEFTE HY (BETIEARL) 7R12RH HY (BB - REMERL60) SHE
41037 |10m A0 |Z1E BRREMEN HY (BETIEAWL) 7128 - L
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41038 |10f% S BRREMERN HY (BETIEAWL) 78108 HY) 5L
41039 |10m%kiH | B ER® HY (BETEARL) 7R12H HY (F#150) L
41040 |10mki |zt R fy HY (BETIEAEW) 7H11H HY (HE - RENEKL56) 7L
41041 |10m%Ki | B KT HY (BETIEARL) 7R11H HY (BB - REMERL56) L
41042 |601% 7k BRREMERN HY (BETIEAWL) 78108 HY) 5L
41043 [204% og S R RGEFTE HY (BETIEARL) 7A108 Y NS
41044 |104% 7k EIR™ HY (BETIEAWL) 7TH6H HY 3L
41045 [304% og ER® HY (BETIEARL) 7R12H Y E=van=|
41046 |104% 7k EIR™ HY (BETIEAWL) 78128 HY) 5L
41047 |604% og SRR GEFTE HY (BETEARL) 7R12H - NR— b & A <—
41048 [30f% S EIR™ HY (BETIEAWL) 7A12H HY (F#150) 218
41049 |90FE M E %tk B (RREEATEN) HY (BETIEARWL) 7R12H HY L
41050 |40f% 7k EIR™ HY (BETIEAWL) 7A12H HY (HF - REMEKLGL) BilzN: 9=
41051 |10m%Ri |t S R RGEFTE HY (BETIEARL) 7R12H - L
41052 |201% S SR T HY (BETIEAWL) 7A12H - Eyan=|
41053  [404% B S R RGEFTE HY (BETIEARL) 7R11H - E=van=|
41054 |10m A0 |B1E by HY (BETIEAWL) 7A11H HY (HF - REMEK156) %L
41055 [104% pog SRR GEFTE HY (BETIEARL) 7R12RH - L
41056 |104% 7k BREREMEN HY (BETIEAWL) 7A11H - L
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41057 |40f% 7k by HY (BETIEAWL) 7A11H - Sz =]
41058 |404% B R HY (BETEARL) 7R12H HY (F#150) BileS:a=]
41059 [104% pog ERT HY (BETIEARL) 7R128 Y (F#150) L
41060 [204% og fe&m HY (BETIEARL) 7R 108 HY (Bii582) E=van=|
41061 |10mAH |B1E s HY (BETIEAWL) 7A11H HY (F1154) 7L
41062 |704% og fe&m HY (BETIEARL) 7R11H - NR— b & A <—
41063 |40f% 7 s HY (BETIEAWL) 78108 HY A
41064 [104% otk ks HY (BETIEARL) 7TH9H Y L
41065 |101% 7k ft&m HY (BETIEAWL) 7A11H - L
41066 |404% otk ks HY (BETEARL) 7R 108 - BE3
41067 |20£% g S|t HY (BEETIEAWL) 7A10RH - NR— & A <—
41068 |10m% A | 2% = HY (BETEEW) 7H9H HY (FH159) 7L
41069 |10m A |B1E =BT HY (BETIEAWL) 78108 HY) 5L
41070 [304% Bk R=EFH HY (BETIEARL) 7R 108 HY (F#159) SHE
41071 |40f% S ft&m HY (BETIEAWL) 7A11H - BEX
41072 [304% otk R=EFH HY (BETIEARL) 7R11H HY L
41073 [60f% S HEREFTE N HY (BETIEAWL) 7A11H HY Eyan=|
41074 |104% otk R=EFH HY (BETIEARL) 7R10H HY (F#159) B L
41075 |704% 7k HEREFTE N HY (BETIEAWL) 7A11H - L
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41076 |101% 7k ft&m HY (BETIEAWL) 7A11H HY Eyan=|
41077 |204% B bt HY (BETIEAEWL) 7THA11H »l) =ft8
41078 |201% 7 =BT HY (BETIEAWL) 7A10H - E=yan=|
41079 [104% otk ks HY (BETIEARL) 7R 108 HY (F#154) B L
41080 |10m A |H1E =BT HY (BETIEAWL) 7A11H - L
41081 |10m%ki | B & | il HY (BETIEARL) 7R11H - L
41082 [30f% 7 =BT HY (BETIEAWL) 7A11H HY Eyan=|
41083 |10m%ki | B R=EFH HY (BETIEARL) 7R12H HY L
41084 [50f% 7k HEREFTE N HY (BETIEAWL) 7TR9H HY) 3L
41085 |404% B ft&m HY (BETEARL) 7R11H - E=zan=|
41086 |401% S ft&m HY (BETIEAWL) 7R9H - RNBE
41087 |10m%Ri |t ks HY (BETIEARL) 7TH9R Y L
41088 |101% 7 =BT HY (BETIEAWL) 7A11H HY) 5L
41089 [204% og fe&m HY (BETIEARL) 7R 108 HY (Bii582) E=van=|
41090 |10f% SE s HY (BETIEAWL) 7A11H HY) L
41091 [304% otk ks HY (BETIEARL) 7R11H Y E=van=|
41092 [30f% SE =BT HY (BETIEAWL) 7A11H - RNBE
41093 [504% otk ks HY (BETIEARL) 7R11H - L
41094 [50f% S ft&m HY (BETIEAWL) 7R9H - RNBE
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41095 |201% SE s HY (BETIEAWL) 7A11H HY Eyan=|
41096 |604% otk ks HY (BETEARL) 7R 108 HY L
41097 |104% S HEREFTE N HY (BETIEAWL) 78108 HY) 5L
41098 |401% 7 L&Em AR 7H12H - E=gan=|
41099 [304% g EFH HY (BETIEARL) 7R12AH HY) (F1159) ey
41100 [304% Bt & | il HY (BETIEARL) 7R11H - E=van=|
41101 |104% 7 s HY (BETIEAWL) 7R9H HY 3L
41102 |404% Bt & | il HY (BETIEARL) 7R12H - E=van=|
41103 |10% 7 =BT HY (BETIEAWL) 78128 HY) 5L
41104 |104% S HEMRIEFTEN HY (BETEEW) 7H12H - 5L
41105 |104% 7k HEREFTE N HY (BETIEAWL) 7TR9H - L
41106 |204% 7 & HY (BETEEW) 7H12H HY) (EEMmHK21) R
41107 |10m A0 |Z1E HEREFTE N HY (BETIEAWL) 7128 - L
41108 |10/ |Z% HEMRIEFTEN HY (BETEEW) 7H11H - 5L
41109 |20f% S ft&m HY (BETIEAWL) 7A12H - BEx
41110 |104% S HEMRIEFTEN HY (BETEEW) 7H11H HY (F154) 3L
41111  [40F% i =BT HY (BETIEAWL) 7A12H HY SilzN:g=]
41112 |404% Bk R=EFH HY (BETIEARL) 7R11H Y E=vad=|
41113 |30f% pogliis =l uly o} HY (BETIEAWL) 78128 HY (FK154) BileNEd=]
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41114 [10£% SE s HY (BETIEAWL) 7A12H HY (F1154) 7L
41115 [104% Bt = | il HY (BETEARL) 7R12H HY (F#154) L
41116 |104% S ft&m HY (BETIEAWL) 7A11H HY) 5L
41117 [204% B ft&m HY (BETIEARL) 7R11H HY (Bii582) E=van=|
41118 |201% S ft&m HY (BETIEAWL) 7R9H - E=yan=|
41119 [204% B ft&m HY (BETIEARL) 7R 108 Y E=van=|
41120 |10mA0H |Z1E & /7 I ET HY (BETIEAWL) 7TH6H HY) 3L
41121 |10m%RT |2t &7 I E] HY (BETIEARL) 7R11H HY (F#164) B L
41122 |504% 7k & /7 I ET HY (BETIEAWL) 7TR9H - E=yan=|
41123 |404% 24 &7 T HY (BETIEAEWL) 78118 HY (F164) BilZNia=]
41124 |304% S & /7 I ET HY (BETIEAWL) 7A10H HY (F1164) 218
41125  |10mKum | B4 &7 I HT HY (BETIEAL) 7TH11H HY (F164) 7% L
41126 [40f% S BN RIEFTE A HY (BETIEAWL) 7A12H HY (F®161) 7L
41127 |404% B BN REERTE HY (BETIEARL) 7R12H HY (F#165) SileS:a=]
41128 |10m A0 |Z1E BN HY (BETIEAWL) 7R 8H HY (F#165) L
41129 |104% otk &7 I E] HY (BETIEARL) 7R11H HY (F1#162) B L
41130 |20f% S BN REEFTE A HY (BETIEAWL) 7A12H - Eyan=|
41131 [304% pog BN REERTE HY (BETIEARL) 7R11H HY (F#156) SHE
41132 |10m A0 |B1E BN HY (BETIEAWL) 7128 HY) 5L
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41133  [30f% 7k BN HY (BETIEAWL) 78128 HY) 5L
41134 |10F%RT |2t B HY (BETEARL) 7R11H HY (F#165) L
41135 [30f% 7k BN HY (BETIEAWL) 7A12H HY Eyan=|
41136 [504% og BN REERTE HY (BETIEARL) 7R12H HY (F#161) TN A b
41137  |401% S BN REEFTE A HY (BETIEAWL) 7A12H - E=yan=|
41138 [104% og B HY (BETIEARL) 7R12H HY (F#160) B L
41139 [50f% S & /7 I ET HY (BETIEAWL) 7A12H - E=yan=|
41140 [504% og B HY (BETIEARL) 7R12H - E=van=|
41141 [104% S EW} HY (BETIEAWL) 7A11H HY (F®161) 7L
41142 [304% og B HY (BETEARL) 7R11H - E=zan=|
41143 |10 A0 (B BN HY (BETIEAWL) 7A11H HY (F#165) 7L
41144 |104% og B HY (BETIEARL) 7R12H HY L
41145 |204% 7k BN HY (BETIEAWL) 7A12H - RNBE
41146 [304% B B HY (BETIEARL) 7R11H - E=van=|
41147 [40F% 7k BN HY (BETIEAWL) 7A11H HY (F#156) 248
41148 |404% B B HY (BETIEARL) 7R12H - E=van=|
41149 |60% 7k BN HY (BETIEAWL) 7A12H HY (F1164) A
41150 [204% B B HY (BETIEARL) 7R12H - E=vag=|
41151 |10m A0 |ZE BN HY (BETIEAWL) 7A11H HY) 5L
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41152 |40% 7k BN REEFTE A HY (BETIEAWL) 7A11H HY (F#%160) A
41153 [704% og B HY (BETEARL) 7R13H - L
41154 |10 A0 |Z1E BN HY (BETIEAWL) 7A13H HY (F#%160) 7L
41155 |10/ |Z % BN HY (BETEEW) 7H9H HY (B - REMEXRLGT) 7L
41156 |10 A0 |Z1E BN HY (BETIEAWL) 7A13H HY (F#%160) 7L
41157 |10/ |20 BN HY (BETEEW) 7H12H HY (B - REMEXRLGT) 5L
41158 |10m A |B1E BN HY (BETIEAWL) 7A13H HY (HF - REMEKLISGT) %L
41159 |404% S &7 I HT HY (BETIEAL) 78128 HY (F164) N 3=
41160 |10mAH |B1E & /7 I ET HY (BETIEAWL) 7A12H HY (F1164) 7L
41161 |304% 7 BINRBEPTEN HY (BETEEW) 7H11H HY Al N
41162 |30f% S & /7 I ET HY (BETIEAWL) 7A12H - RNBE
41163 [104% Bk &7 I E] HY (BETIEARL) 7R10H HY (F1#162) B L
41164 |104% S & /7 I ET HY (BETIEAWL) 7A11H HY (F1162) 7L
41165 [104% Bk &7 I E] HY (BETIEARL) 7R11H HY (F#164) B L
41166 [40£% oy BRINREEFTE N HY (BETIEAWL) 7128 HY (F1164) BilzNEd=]
41167 |704% 7 BINREPTEN HY (BETEEW) 7H12H HY (F164) 3L
41168 |10m A |Z1E & /7 I ET HY (BETIEAWL) 7A12H HY (F1164) 7L
41169 |304% St BN HY (BETIEAWL) 7813H HY (F#156) SilzNia=]
41170 |10m A0 |Z1E BN REEFTE A HY (BETIEAWL) 7A11H HY (F1164) 7L

- 11 -
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41171 |10m A0 |ZE BRNRIEFTE A HY (BETIEAEWL) 7A11H HY (F1164) 7L
41172 |104% og BN REERTE HY (BETEARL) 7R11H HY (F1#162) L
41173 |104% 7k & /7 I ET HY (BETIEAWL) 7A11H - L
41174 |10F%RT |2t BN REERTE HY (BETIEARL) 7R11H HY (F#164) B L
41175 |204% S BN HY (BETIEAWL) 7A13H HY Eyan=|
41176 |104% B BN REERTE HY (BETIEARL) 7R13H HY (F#161) B L
41177 |10m A |Z 1% BN HY (BETIEAWL) 7A13H HY (F#%160) 7L
41178 |90 E | Bt B SRR 7R13H - L
41179  |40F% 7k BN HY (BETIEAWL) 7A12H - E=yan=|
41180 [304% og B HY (BETEARL) 7R12H HY (F#161) L
41181 |10% S & /7 I ET HY (BETIEAWL) 7A12H HY (F1162) 7L
41182 [804% otk &7 I E] HY (BETIEARL) 7R11H - L
41183 |10m A0 |H1E BN HY (BETIEAWL) 7A13H HY (F#156) 7L
41184 [204% og B HY (BETIEARL) 7R12H Y E=van=|
41185 |201% S —Eh HY (BETIEAWL) 7128 HY) L
41186 |404% og —BHREFTE M HY (BETIEARL) 7R12H - E=van=|
41187 |601% S —BREFFEA HY (BETIEAWL) 7A11H - SilzN:g=]
41188 |10m%RiH |tk —Bah HY (BETIEARL) 7R12RH HY (BB - REMERIL8) L
41189 [60f% S —Eh HY (BETIEAWL) 7A12H HY Eyan=|
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41190 [60f% 7k —Eh HY (BETIEAWL) 7A12H HY BilzN: =]
41191 |10m%Ki | B —Bgmh HY (BETEARL) 7R12H HY (BB - RBEMERIL8) L
41192 |30% S —Eh HY (BETIEAWL) 7A12H - E=yan=|
41193 [304% B —Bgmh HY (BETIEARL) 7R11H HY (BB - RBEMERLL8) NS
41194 |10m A |Z 1% —Eh HY (BETIEAWL) 7TR9H HY (HF - REMEKL58) 3L
41195 [304% og —Bah HY (BETIEARL) 7R12H HY (BB - RBEMERLL8) NS
41196 [50f% 7k —Eh HY (BETIEAWL) 7A12H - E=yan=|
41197 |104% B —Bgmh HY (BETIEARL) 7R13H HY (BB - RBEMERLL8) L
41198 |10m A0 |HB1E —Eh HY (BETIEAWL) 7A12H HY (HF - REMEKL58) %L
41199 |10m%Ri |2t —BHREFTE M HY (BETEARL) 7A8H HY (BB - REMERIL8) L
41200 |10mAH |Z1E —Eh HY (BETIEAWL) 7128 HY) 5L
41201 [104% og —Bah HY (BETIEARL) 7R12H HY L
41202 |201% S —Eh HY (BETIEAWL) 7A11H HY (HF - REMEKL58) 248
41203  |604% B —Bgmh HY (BETIEARL) 7R12H - E=van=|
41204 |10m A0 |ZE —Eh HY (BETIEAWL) 7A11H HY (HF - REMEK158) %L
41205 |604% B —Bgmh HY (BETIEARL) 7R11H HY L
41206 |201% 7k —Eh HY (BETIEAWL) 7A11H HY (HF - REMEK158) BEX
41207 |10m%Ki |B1E —Bgmh HY (BETIEARL) 7R12RH HY (BB - REMERIL8) L
41208 [90m M £ |B1E —Eh HY (BETIEAWL) 7A12H HY (SEHEMER58) 5L

- 13-
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41209 [10£% St B4 (—BEREAEN) HY (BETIEAWL) 7A13H »HY 3L
41210 |604% S —Bm™ HY (BETEEW) 7H11H - E=gan=|
41211 |30f% 7k —Eh HY (BETIEAWL) 7A11H HY (HF - REMEKL58) RNIE
41212 |104% og —BHREFTE M HY (BETIEARL) 7R13H HY L
41213 [20£% Egs BR (—BEREAEN) HY (BETIEAWL) 7A13H - BileNtd=]
41214 |104% B —Bgmh HY (BETIEARL) 7R12H - L
41215 |201% 7k —Eh HY (BETIEAWL) 7R9H HY (HF - REMEKL58) 248
41216 |204% S KB ™ HY (BETEEW) 7H13H HY) E=gan=|
41217 |50£% St BR (KiEREITER) HY (BETIEAWL) 7A13H - N
41218 |10/ | B BERT = E™ HY (BETEEW) 7H13H HY 3L
41219 |504% SE BERImE™ IR 7A13H HY Eyan=|
41220 |404% 7 e E™ HY (BETIEAL) 7813H &HY) BilzNia=]
41221 [10#% 7 BERT S AT HY (BETIEAWL) 7A13H HY) 5L
41222 |604% St BERT = HE™ HY (BETEEW) 7H12H HY) BEX
41223 |40F% 7k KARET HY (BETIEAWL) 7A11H - RNBE
41224 |90FE M E | %tk KAET HY (BETIEARL) 7R13H - L
41225 |40f% 7k KARET R 7A13H - SilzN:g=]
41226 |501% 7 Ferim BT HY (BETEEW) 7H12H - E=gan=|
41227 [104% S RARET HY (BETIEAWL) 7A12H HY Eyan=|
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41228 |104% 7k RARET HY (BETIEAWL) 7A13H HY N
41229 |304% 7 ERREMEN HY (BETEEW) 7H8H HY (B - REMEKL59) E=gad-|
41230 |10k Bt ERREFEN HY (BETIEAEW) 7H11H HY (B - REMEKLL9) 7L
41231 |10/ |20 ERREMEN HY (BETEEW) 7H11H HY (B - REMEKRL59) 5L
41232 |10m A0 (B ERRBAEN HY (BETIEAEWL) 7A11H HY (HF - REMEKLL9) %L
41233 |10/ |21 ERREMEN HY (BETEEW) 7H10H HY (B - REMEKRL59) 5L
41234 |10m A (B ERRBAEN HY (BETIEAEWL) 7R9H HY (HF - REMEKLL9) 3L
41235 |10/ | B ERREMEN HY (BETEEW) 7H10H HY (B - REMEKRL59) 5L
41236 [30f% 7k ERRBAEN HY (BETIEAWL) 7A10H HY (HF - REMEKLL9) %L
41237 |10/ |20 ERREMEN HY (BETEEW) 7H12H HY (B - REMEXRL59) 5L
41238 [304% Sk EAREFAEN HY (BETIEAEW) 7H11H HY (B - REMEKLL9) E=yan—|
41239 |304% 7 ERREMEN HY (BETEEW) 7H12H HY (B - REMEXRL59) Egad=|
41240 |30f% 7k ERRBAEN HY (BETIEAWL) 7A12H HY (HF - REMEKLL9) BilzN: 9=
41241 |304% St B4 (FRH) HY (BETEEW) 7H8H HY) E=gan=|
41242 |10£% St B4 (ZE™) HY (BETIEAWL) 7A11H HY 248
41243 |304% St B4 (FRH) HY (BETEEW) 7H8H HY) E=gad=|
41244 |50£% St B4 (ZE™) HY (BETIEAWL) 7128 HY 248
41245 |204% St B4 (FRH) HY (BETEEW) 7H10H HY) E=gan=|
41246 |301% 7k ERRBAEN HY (BETIEAWL) 7A12H HY (HF - REMEKLL9) 248
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41247 |10 A (B ERRBAEN HY (BETIEAEWL) 7R9H HY (HF - REMEKLL9) 3L
41248 |404% og ZRREREN HY (BETEARL) 7R11H HY (BB - REMERI) L
41249 |40F% S ERRBAEN HY (BETIEAWL) 7A12H HY (HF - REMEKLL9) 248
41250 |10m%ki |B1E ZRREFTEN HY (BETIEARL) 7R10H HY (HE - RBEMERILI) L
41251 |10m A0 |ZE ERRBAEN HY (BETIEAEWL) 7A12H HY (HF - REMEKLL9) %L
41252 |704% og ZRREREN SRR 7R13H HY L
41253 |10k &t ERREFEN HY (BETIEAEW) 7H12H HY (B - REMEKLL9) 7L
41254 [304% Bk ZRREFEN HY (BETIEARL) 7R12H HY (BB - REMERLI) SHE
41255 [304% Sk ZRREFEN HY (BETIEAEW) 7H12H HY (B - REMEKLL9) E=yan—|
41256  |404% Bk ZRREFEN HY (BETEARL) 7R13H HY (HE - REMERLL) SHE
41257 |104% 7k ERRBAEN HY (BETIEAWL) 7A13H HY (HF - REMEKLL9) %L
41258 [304% Bk ZRREFEN HY (BETIEARL) 7R12H HY (BB - REMERII) SHE
41259 [30f% 7k ERRBAEN HY (BETIEAWL) 7A13H HY (HF - REMEKLL9) RNIE
41260 [304% og ZRREREN HY (BETIEARL) 7R12H HY (BB - REMERLL) SHE
41261 |10mAH |Z1E ERRBAEN HY (BETIEAWL) 7A11H HY (HF - REMEKLL9) %L
41262 [304% Bk ZRREFEN HY (BETIEARL) 7R12H HY (BB - REMERL) SHE
41263 (304X Sk ERREFEN HY (BETIEEW) 7H12H HY (B - REMEKLL9) E=yan—|
41264 [304% Bk ZRREFTEN HY (BETIEARL) 7R13H HY (BB - REMERILI) NS
41265 [50f% S ERRBAEN HY (BETIEAWL) 7A12H HY (HF - REMEKLL9) 248
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41266 [40f% S EHREMERN HY (BETIEAEW) 7A7H - E=yan=|

41267 |301% B 1L T HY (BETIEAEWL) TH9H - BHEZ%E

41268 [601% 7k EHREMERN HY (BETIEAWL) 7R 8H - BEX

41269 [304% og EEHREFEN HY (BETIEARL) 7R11H - NR— b & A <—
41270 |401% S EHREMERN HY (BETIEAWL) 7A12H - Sz =]
41271 [504% og EEHREFEN HY (BETIEARL) 7R12H - N3]

41272 |304% SE FREFHRAT HY (BETIEAWL) 7A12H - E=yan=|

41273 |104% S FH 27 K A HY (BETIEAL) 7H13H - mL

41274 |504% S =hmh HY (BETIEAWL) 7A11H HY N

41275 |404% og EEREFTEN HY (BETEARL) 7R11H - NR— b & A <—
41276 |501% S EHREMERN HY (BETIEAWL) 7A11H - BEX

41277 [204% og EEHREFEN HY (BETIEARL) 7R11H - ELN S

41278 [90FEMU £ | %tk EEREFEN HY (BETIEARL) 7A138 HY (BEEMER59) AL

41279 [304% og EEHREFEN SRR 7R13H - BileS:a=]
41280 |401% 7k ARREFIEA HY (BETIEAWL) 7R 8H - SilzN:g=]
41281 [104% og ATEIRBEFTE N HY (BETIEARL) 7R12H HY L

41282 |601% 7k ARREFIEA HY (BETIEAWL) 7A11H HY Eyan=|

41283 |704% B ATEARBEFTE N HY (BETIEARL) 7TH9R - BE3

41284 |301% 7k ARREFIEA HY (BETIEAWL) 7A11H - E=yan=|
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41285 [60f% 7k FEEFET HY (BETIEAWL) 7A11H HY BilzN: =]
41286 |601% B ATEIRBEFTE N HY (BETEARL) 7R 108 - E=zan=|
41287 |704% 7k ARREFIEA HY (BETIEAWL) 7A11H HY) 5L
41288 [501% og FEBPET HY (BETIEARL) 7R11H - E=van=|
41289 |10m A |B1E AFTH HY (BETIEAWL) 7A11H - L
41290 |10m%ki |B1E AZEH HY (BETIEARL) 7R11H - L
41291 |50% S ARREFIEA HY (BETIEAWL) 7A11H HY Eyan=|
41292 [304% og AFETH HY (BETIEARL) 7R11H - N3]
41293 [30f% 7k AFTH HY (BETIEAWL) 7A11H - RNBE
41294 [304% B AZEH HY (BETEARL) 7R11H - E=zan=|
41295 [80f% 7k ARREFIEA HY (BETIEAWL) 7R 8H HY) BEX
41296 |104% B ATEIRBEFTE N HY (BETIEARL) 7TH9R Y L
41297 |504% 7k ARREFIEA HY (BETIEAWL) 7TR9H HY) Eyan=|
41298 [104% B ATEIRBEFTE N HY (BETIEARL) 7R10H HY (F#163) B L
41299 |10m A B ARREFIEA HY (BETIEAWL) 7A11H HY) 5L
41300 |404% og ATEIRBEFTE N HY (BETIEARL) 7R11H - E=van=|
41301 |604% B ARIREFTE N HY (BETIEARL) 7A118 HlY) (F1166) HEZ
41302 |10m%Ri |t ATEIRBEFTE N HY (BETIEARL) 7R10H - L
41303 |10m A |H1E ARREFIEA HY (BETIEAWL) 78108 - L
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41304 |10m A0 |B1E ARREFIEA HY (BETIEAEWL) 7A11H HY) L
41305 |10m%kiH |B1E AZEH HY (BETEARL) 7R11H - L
41306 [104% B ARIREFTE N HY (BETIEARL) 7A118 HlY) (F1166) L
41307 |504% B ATEIRBEFTE N HY (BETIEARL) 7TH9R - E=van=|
41308 |101% 7k ARREFIEA HY (BETIEAWL) 78108 HY) 5L
41309 [604% og ATEIRBEFTE N HY (BETIEARL) 7R10H HY L
41310 [30f% S ARREFIEA HY (BETIEAWL) 7A12H HY Eyan=|
41311 |404% og ATEIRBEFTE N HY (BETIEARL) 7R12H Y EilzN=3=}
41312 |10m A0 |B1E ARREFIEA HY (BETIEAWL) 7128 HY) L
41313 [304% og ATEIRBEFTE N HY (BETEARL) 7R12H HY NR— b & A< —
41314 |10m A0 |Z1E ARREFIEA HY (BETIEAWL) 7128 HY) L
41315 [304% B ATEIRBEFTE N SRR 7A138 ) NS
41316 [60f% S ARREFIEA HY (BETIEAWL) 7A13H - L
41317 |404% og AFETH HY (BETIEARL) 7R12H Y BileS:a=]
41318 |10% 7k AR HY (BETIEAWL) 7128 HY) L
41319 [704% B ATEIRBEFTE N HY (BETIEARL) 7R11H - E=van=|
41320 |40f% S ARREFIEA HY (BETIEAWL) 7A12H - Eyan=|
41321 [304% B AZEH HY (BETIEARL) 7R12H - E=vag=|
41322 |104% S FEEFET HY (BETIEAWL) 7A11H HY) 5L
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41323 |10m A0 |B1E ARREFIEA HY (BETIEAEWL) 7128 - L
41324 |104% B AZEH HY (BETEARL) 7R11H HY (F#163) L
41325 [50f% S AFTH HY (BETIEAWL) 7A11H - E=yan=|
41326 |104% B ATEIRBEFTE N HY (BETIEARL) 7R12H HY (F1166) B L
41327 |10m A0 |B1E ARREFIEA HY (BETIEAEWL) 7128 HY) L
41328 |10m%Ri |t ATEIRBEFTE N HY (BETIEARL) 7R11H - L
41329 |104% S ARREFIEA HY (BETIEAWL) 7A11H - L
41330 |404% og ATEIRBEFTE N HY (BETIEARL) 7R11H - N3]
41331 [30f% 7k ARREFIEA HY (BETIEAWL) 7A7H HY RNBE
41332 [304% B AZEH HY (BETEARL) 7R12H - NS
41333 |20f% Egs —Fh HY (BETIEAWL) 7A12H HY RNBE
41334 [304% B —Fm SRR 7A11H &Y Eilzy=3=}
41335 |604% pog —FRMEATE N FEREIR 7TA11H Y ilzN:3s]
41336 |504% 7 (23 N) HlY) (BETIEEW) 7HR8H &HY) BilZNi3=]
41337 [30f% i vl HY (BETIEAWL) 7A11H HY Eyan=|
41338 [204% B —FREFERN HY (BETIEARL) 7R12H - N3]
41339 [50f% S “FREFFER HY (BETIEAWL) 7A12H - RNBE
41340 |404% pog BRKHE] HY (BETIEARWL) 7R12H - E=vag=|
41341 |30f% 7k “FREFFEA HY (BETIEAEW) 7A13H HY TS A b
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41342 |50% 7k “FREFFEA HY (BETIEAEW) 7A12H - E=yan=|
41343 |404% og BRKHE] HY (BETIEARWL) 7TA128 Y NS
41344 |801% SE vl HY (BETIEAWL) 7A11H - L
41345 |204% St (23 N) HlY) (BETIEEL) 78128 - N 3=
41346 |201% SE vl HY (BETIEAWL) 7R9H HY Eyan=|
41347 [804% og ekl HY (BETIEARL) 7R13H HY AL
41348 [601% 7k “FREFFEA HY (BETIEAEW) 7A12H HY Eyan=|
41349 [104% B “FREFERN HY (BETIEARL) 7R13H HY AL

- 21 -



